Maths Challenge – 27.11
Try a few from each section.
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Answers below
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@ Three friends equally
share 42 swees.
How many do they
have each?

@ Four children sit at
each table. How
many tables are
needed for 52
children?

@ seventy-four apples
are shared equally
between two barrels.
How many apples
are there in each
barrel?

@ How many £5 notes
make £957
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@ Ricky is half way
through his book. It has

152 pages. How many.
pages has he read?

@ Each tray holds eight
plants. How many trays
are needed for 174
plants?

@ 125 coins are shared
equally between five
bags. How many coins
are there in each bag?
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